EARAROBEEIERT — 2 N— IBISH —F

20155983 (k) 12[@EME5H

M C2— H5%3m®L ESR IR
[AE£] 1% :250,000” ~ 23#%&:62500H”  33&:30,000”  437&:20,000H . 57&:12,500
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 54 # 5 | KILEE 1:30.6 8-8-9-6 |38.8| — 3 427 | BEERER (EIMH)
1N 4| PZEA—I 54.0 (=) 1) HHET
LY IARAHR B:TUEET Y b o2l I
= = B 3 | KBKEE 1:30.7 2-2-2-1 |39.8| — 2 440 | REFAE (Fh)
2 H 9 X174 —771 55.0 (1/2) © IR $
R:ZFAT—IE B:RU—LF(T ESIIE e
f= s = 210 | ETHE— 1:31.2 1-1-1-2 | 40.5| — 10 | 533 |WocidiE (FEk)
sl 3| V77T “7 5.0 3) (45) (ﬁ) Tr—AhEYa>
AKX R N=N— B:d—KrRarF i &
= 4 5 | FHE— 1:31.2 5-5-5-4 |39.7| — 4 400 | EHES (EE)
48| 7VART Ty b 57.0 (75%) Cy | B Tr-zrEvar
R:YLKYIYRIZR B:O—-HZR J =¥ Ty — L
N ST 43 | Bl 1:31.3 10-10-3-3 | 39.5 | — 5 515 | ElllfEa (Em)
517|7|F>7%Nd 55.0 (1/2) (+2) Eiﬁ*i%?
RNT BAHINIIHTS =latie
. o JNERE— :31. -3-4- . — BAfEE (F)
6lsl 5|71 xR =y R | e [ D e | ExeE
L:a4%>v by B:J—FX30=— (AYorie}
oo — HFE= . —7-7- — RFAEE (BR)
7 0| TU=RRF 1T i o8 o 1.(321>.8 7-7-7-8 | 40.0 9 (4_516) Jinals
L:77)—h B:a—r)—-TL-—1 pNCtie]
9 ooy s 4 | TRE 1:32.1 5-6-6-7 | 40.4| — 6 504 | TEFZ (EA)
g|8|10| ¥Y—ATA 54.0 (1 3/4) s |_B) FADKs
RN TSN A— BRAH gaiutie]
.. _ FEE G .30 -9-8- . - WEER (Fh)
N : DIREE R e I I [ IR R T | maex
L:O—-Y X124 B:UVXF1%vv b EEs —B
\ N s 4 | BEBRE 1:34.4 4-4-10-10 | 42.7 | — 8 454 | FAAMEE (FEh)
10011 NF=HvT 54.0 (519) o) | BB
L:TNhEy N BAVITr—T o RIS
® 1—F—@EBIERL
1T=7r= 3,9,5,1,(8,10),2,4,6,7
23— — 3,9,5,1,8,10,2,4,6,7
Ja=5= 3,9,7,5,8,10,2,6,4,1
40—+ — 9,3,7,(5,8),4,10,2,6,1
[ N5
B 4 480M 714K 4-9 470M e E 4-8 1,1108 JEE 3-4-9 20,240
B B 4 130M 3-4 5,220 B = 4-9 960M JEE 4-9-3 76,790
9 140 3-9 2,780 B H 4-9 2,150M
8 1,320

ABICOVWTRDTEEERROODE. TR LIV,




